W w0, i T

[ABCFEMm] A

1340 E B :34Kkm~28LE C:28Kim

0 1 2 3

202 45FE

[4 =EHm]

4 TREFHE 0 1 2 3 4

455 1 ETIEED 3 EBLAEVLWZRIEYETIEES 28 Eboh 0 IEETIEES AL

(&7 or— b #R

1R ETEELHEL

3.0 | B 1 #mkozrvaZEL-TLS
3.1 B 2 B d0welrhH25885
3.1 | B 3 BacEsHiIEiE pEooTIiceyRFLSELlTns
= 30 | B 4 BEZ® - TEMETHELNITTLDS
N B 33 | B 5 ZRICFCOEFEERLVERS
= + 3.1 B ) . .
29 | B 6 ®ETiIZ, BEEZREMIF, BHTEY, BOTEZ, RYBEATWS
£ 2.8 B 7 FFEFEvEE/ —r2ERTRE, BELEDL-TEELTWD
=1 34 | A 8 BERBOTFY ALY, HEREOEEET->TWS
T 3.2 | B 9 BEPHBIETT. FbEX. fiAZIHEECSMLTVS
3.2 | B 10 @@EoBETIE. BEWIEZPERZHLAIH T, BODEEHICOVWTEZIERDDLIEATETWVD
2l 31 29 B 11 ##LuwzeTd, kEEENABZLTHREILTWLD
" ' B 32 | B 12 EECEMECEEAREL. AMEALLS L LTLD
1=
3.1 | B 13 BN TEZALEECREARFE T EIEADIENTES
29 | B 14 ®B#E7TiE. BOBVLWeEZXA2H LIS, FHLULOEBPHLLHOZEYHITESNTETLDS
34 | A 15 KEBAPE->TWAEIL, EATBITTWS
5 3.7 A 16 KEBIZEIDIFELWEERS
= . A 33 | B 17 BETEELLELAS LR, AELOECERAEEL, BRNICTETHCEATES
= = 3.3 B 18 WMaFEAB\HKLAY. FEEVTHDLIZEDTEEARAN (. RI/—ILAT Y ET— RT—LY—S v T—h—HE) AWV
&
35 | A 19 MAEEZBEHKLLY., FEBHVTELSIIEDTELIRLELA VD
1F
36 | A 20 A= b7V IA—LTY IREDEVADIL—ILPEBRETILET>TWNDS
* N3 /\ 33 | B 21 #EOIIBTYEEEZDIENTES
E:5 38 | A 22 LWLBIE, CAREERLH->THLITANI EEEERS
36 | A 23 HEeD~vF—PERKOIL—IL - KAAEF-TWD
_ 3.6 A 24 THIFLS] TPTaBEIV] [E0nFE] [HYHES] AhE, RECHVDEIOPEHOSTFLEIZA TS
2%
B = /\ 34 | A 25 EOAITHWNEDOLEEY, BHEEICH EOBREDEEEEZALYLTLS
= ~ § § § 3.7 A 26 KEBRXZTHL->TLWBAICRBEL, [HUHLHES] EWSEEHEETATVWS
15N H H H
= - 33 | B 27 KEEoUTEAER. TOMEEOFHISMLIE:C ENBHD
7
&S 3.3 B 3.6 A 28 ADEBICIIODABICHRYIWEES
i n ' 29 B 29 A@EHAS, RTOFELWELTWLS
: : 3.3 | B 30 fbEoniHic, FROCHBEBLREICEERE D > TRYBEATLS
_ 2h
ERADT — LEE(2024) FHOREFERR(2024) FHoFER(2024) 2Bl AKBDOFEERME o
3%
° E
Om~59m ah Bl E 0m~29m .
18% 6%
6%
~3h59m /
13% 30m~59m 10m~29m 30m~59m
2h~2h59m 17% 21% 30m~59m 11%
25% 12%
2h~2h59m
10m~29m
24%
16%
= 4hLl £ = 3h~3h59m = 2h~2h59m = 1h~1h59m = O0m~59m = 3hA E = 2h~2h59m = 1h~1h59m = 30m~59m = Om~29m s 2hALE = 1h~1h59m = 30m~59m 10m~29m = Om~9m = 2hBAE = 1h~1h59m = 30m~59m = 10m~29m = Om~9m




